NOTES:

1. THE ELF6375DXD HAS BEEN TESTED IN ACCORDANCE WITH MIAMI-DADE COUNTY
PROTOCOLS TAS-201, 202, 203 FOR LARGE MISSLE IMPACT, UNIFORM PRESSURE AND
CYCLIC WIND PRESSURE

2. THE LOUVER SYSTEM IS APPROVED FOR APPLICATIONS WITH DESIGN PRESSURES
OF+/-148 PSF OR LESS.

3. THIS LOUVER SYSTEM IS NON-BEARING AND IS NOT DESIGNED TO WITHSTAND
BUILDING DEAD LOADS.

4. LOUVER ANCHORS ARE REVIEWED FOR ATTACHMENT INTO STEEL, ALUMINUM,
CONCRETE, MASONRY BLOCK (CMU), WOOD SUBSTRATES. MINIMUM EDGE DISTANCE AND
EMBEDMENT REQUIREMENTS ARE SHOWN. RUSKIN DOES NOT DETERMINE THE
STRUCTURAL INTEGRITY OF THE SUBSTRATE.

5. MAXIMUM SINGLE SECTION SIZE IS 87 7/8" WIDE X 119 3/4" HIGH.,

6. MAXIMUM ASSEMBLED LOUVER SIZE: UNLIMITED WIDTH X 119 3/4" HIGH. MAXIMUM
MULLION SPACING IS 87 7/8"

7. SECTIONS OR ASSEMBLIES MAY BE STACKED VERTICALLY PROVIDNG A SUITABLE
STRUCTURAL SUPPORT IS DESIGNED AND INSTALLED BY OTHERS TO SUPPORT ALL LOADS
TRANSFERRED FROM THE LOUVER.

8. TAS 100A FOR WIND DRIVEN RAIN WAS NOT PERFORMED

9. ALL DISSIMILAR MATERIALS INCLUDING STEEL THAT IS IN CONTACT WITH ALUMINUM
SHALL BE PROTECTED IN COMPLIANCE WITH FLORIDA BUILDING CODE 2003.8.4.2

10. HDG = HOT DIP GALVANIZED

DRAWING INDEX:

60-022375-00B SHEET 1 OF 20 - NOTES AND DRAWING INDEX
60-022375-00B SHEET 2 OF 20 - ELF6375DXD TEST LOUVER - ASSY 'A'
60-022375-00B SHEET 3 OF 20 - SECTIONS & DETAILS
60-022375-00B SHEET 4 OF 20 - SECTIONS & DETAILS
60-022375-00B SHEET 5 OF 20 - SECTIONS & DETAILS
60-022375-00B SHEET 6 OF 20 - SECTIONS & DETAILS
60-022375-00B SHEET 7 OF 20 - SECTIONS & DETAILS
60-022375-00B SHEET 8 OF 20 - SECTIONS & DETAILS
60-022375-00B SHEET 9 OF 20 - SECTIONS & DETAILS
60-022375-00B SHEET 10 OF 20 - SECTIONS & DETAILS
60-022375-00B SHEET 11 OF 20 - SECTIONS & DETAILS
60-022375-00B SHEET 12 OF 20 - SECTIONS & DETAILS
60-022375-00B SHEET 13 OF 20 - SECTIONS & DETAILS
60-022375-00B SHEET 14 OF 20 - PART DETAILS
60-022375-00B SHEET 15 OF 20 - PART DETAILS
60-022375-00B SHEET 16 OF 20 - PART DETAILS
60-022375-00B SHEET 17 OF 20 - PART DETAILS
60-022375-00B SHEET 18 OF 20 - PART DETAILS
60-022375-00B SHEET 19 OF 20 - PART DETAILS
60-022375-00B SHEET 20 OF 20 - PART DETAILS

NGINEER OF RECORD

CHELSEA GQ. WELCH

ENGINEERING DISCIPLINE

CIVIL ENGINEERING

EGISTRATION NUMBER

*REFERENCE NOTE: THESE DRAWINGS ARE A COPY OF THE DADE CO.
APPROVAL. ANY REFERENCE, TECHINCAL OR CALCULATIONS ARE PER
N.O.A. #12-0601.22

APPROVAL DRAWINGS 60-022375-00B

SHEET 1 OF 20

TX# 117359

> %
5 Z =
{;} @) 8 E:%%%E REVISION DESCRIPTION g\‘;‘:”“- gv:K‘D- S\';:PV'D- gs:PV'D- DATE
. ]

2} DWN. CHK. APPVD. APPVD. PLOT SC

CHELSEA G. WELCH 4 % - B:  J-W |ex CGW [ CGW |av: E?USKJM 3900 DR. GREAVES RD S
‘q“\ iy O S & 2 Momoma " onona | Torona |0 Air & Sound Control S e WORE |k 455
I;‘:O" E_I_) ™ G & TITLE DWG. NO.

(uj '-o'- ELF6375DXD TEST AND

x x

Q 2

L

DECIMAL DIMENSIONS:
3 PLACE XXX +.010
UNLESS SPECIFIED OTHERWISE

2PLACE XX +.020
ANGLE DIMENSIONS + 2°

FRACTION DIMENSIONS:
USE WIQ-007 & 008

TOLERANCES




HEAD

FRAME

- 263 3/4" e -/ FRAME
= 87 13/16" - 87 7/8" - 87 13/16" —| REF ITEM 1| 6063-T5 EXTRUDED ALUMINUM
——291/4"—~| 295/16" |=—29 1/4"—] [<—29 1/4"— 295/16" [=—291/4"—— 29 5/16" r7/29 1/4" —— SHEET 14 | BOX FRAME WITH .080" NOMINAL
] / WALL THICKNESS
& i i & a2 & BLADES
i i it i i f 6063-T5 EXTRUDED ALUMINUM
& & - & = = WITH .080" NOMINAL WALL
i i & i i i THICKNESS. BLADES ARE
i i e : i e POSITIONED AT 37.5° ANGLE
. - i o o = SCREEN
.. i i i i X FINISH
119 3/4 = = = H - N =
i ; i : i i MILL
E E E % E ;,;q ACCESSORIES
= = 5 ﬁ = i— NONE
{ : | 1 ; o
1 tH tH £ £ a5 3 \\ JAMB FRAME
/ \ REF ITEM 3 SHEET 14
REF. DET. 4 REF. DET. 3
SHEET 5 SHEET 4
ENGINEER CF RECORD ASS E M B LY A ELF6375DXD
CHELSEA GQ. WELCH SILL FRAME
R ——— S'TT\'/S(S) ASSEMBLY REQ'D w/ 3 SHIP SECTIONS PER ASSEMBLY PRONTVIEW IR HER EXE RN
; W
CIVIL ENGINEERING
EGISTRATION NUMBER
TX# 117359
> >
STOERN z z
i:'.?} ""[E:',Eq“...“ 8 8 fg%NE(;E REVISION DESCRIPTION s SHKD. | GEPVD: | APV | DATE
o * % w ; . 3
e N . g L GG A /ST —
\ A 3) O s Monoma |7 OATE: Air & Sound Control BN Mokaue NONE |ecn: 4539
'.‘%"... 11?3590 & LEJ T g éf‘ % TITLE DWG. NO.
'l;?:g. L = 2egz2ss ELF6375DXD TEST AND
| \7“\1,41, z x 3§gf3 ST 56 55 APPROVAL DRAWINGS 60-022375-00B
1 ”-%E%BELU@
e L PEzaEz4s




1/8" l/ 21/2"

P REF 2 1/2" MIN. \
~—— BLADE i ﬂﬁl
REF ITEM 4 SHEET 15 /
(2) #10 X 1" LG

—— REAR SUPPORT

TEK SCREWS |
~—— SNAP-ON BLADE

1/4" @ BOLT,
WASHER, LOCKNUT

$

11/2" X 11/2" X 1/4" X 2" LG
ALUM. CLIP ANGLE. 2" FROM
CORNERS AND 15" MAX O.C. ITEM 7/16

/

EL

/ MIN. (2) 2 X 10, SG=0.4

1/4" THK COLUMN ENDPLATE
REF. DET 3A ON SHEET 4

A

1/2"@ A307 BOLT, WASHER,
LOCKNUT

BLADE REF

1/4" MAX GAP

| ——

JAMB DETAIL - WOOD SUBSTRATE

==

BACKER ROD &
SEALANT

 1/4" MAX

N.T.S.

(1
o/

BRACE CLIP
REF ITEM 5 SHEET 15
1/8" I/ 4"
1/8" [\ 212"
ELF6375DXD
N.T.S. ASSEMBLY INFO

NGINEER OF RECORD

CHELSEA GQ. WELCH

ENGINEERING DISCIPLINE

CIVIL ENGINEERING

EGISTRATION NUMBER

TX# 117359

‘_a;!;stf—a%\_ \
’

I.o'

' 4
l
CHELSEAG WELCH;
117359
‘ NORAL
I
|]2°l (” "

FOR OFFICE USE ONLY

FOR OFFICE USE ONLY

REF DETAIL 1A/6, 1B/6, 1C/7, 1D/7, 1E/8 FOR
ALTERNATE FRAME MATERIALS

f

[—

S.G.=0.4

SHIM

2 1/2" MIN.

=
L MIN. (2) 2 X 12

SILL DETAIL- WOOD SUBSTRATE (HEAD SIM)

N
=

M, | i3,
REF DETAIL 2A/9, 2B/10, 2C/11, 2H/12 FOR
ALTERNATE SUBSTRATE MATERIALS

CHANGE REVISION DESCRIPTION

DWN. CHK'D.

APPV'D,

APPV'D. DATE

LETTER BY: BY: BY: BY:
DWHN. CHK APPVD. APPV'D. PLOT SC
e J-W CGW |sv:  CGW |ex: @USKHM 3900 DR. GREAVES RD e
o 4 |DATE: DATE: DATE: DATE: " GRANDVIEW, MO 64030 NONE ECN: 4539
T z| 1010114 | 1011014 | 10/10/14 Alr B.Sound Cantrel '
g 9N & TITLE DWG. NO.
= Gpn ©
3852238 ELF6375DXD TEST AND
fEgssesy PPROVAL DRAWINGS 60-022375-00B
%ééﬁ SHEET 3 OF 20
SRR




BLADE CLIP
REF 5/15

REF 4/15

3" X 2" X 1/8" ALUM ANGLE
FULL HEIGHT OF SECTION
REF ITEM 8 SHEET 16

LVR BLADE i

N /T

C7X9.8 BLADE SUPPORT
W/ SLOTS. REF DETAIL 3E,

N\ —

/

ITEM 6 SHEET 15 7
3/8-16 X 1" LG HX HEAD BOLT A307 ZNC PLATED g }
W/ LOCKNUT & WASHER (6" FROM 3 7/8"+1/8"
ENDS, 18" MAX O.C.) 5 {
F
-~ |12z
g |/ o \BLDCLIP g 1%/32.. @
[~ CHANNEL
8
I /3£ SUPPORT SLOT DETAIL

v;N.T.S.

/3" BLADE SUPPORT DETAIL

1/4" {\

31/2"

N

@ 9/16"

NGINEER OF RECORD

CHELSEA GQ. WELCH

NGINEERING DISCIPLINE

CIVIL ENGINEERING

EGISTRATION NUMBER

TX# 117359

g e »
% CHELSEA G. WELCH 2
’i,;g}x 117359 Q

'I“%;. {ogys
\‘ [\

U N.T.S.

ENDPLATES NOT SHOWN FOR CLARITY <

FOR OFFICE USE ONLY

11/4" (TYP)

_ ]
3/8" — |~

(A" SUPPORT END PLATE DETAIL(WOOD SUBSTRATE ONLY)

- M. TS,
\/ END PLATE MAT'L: 1/4" THK A36 STL

FOR OFFICE USE ONLY

CHANGE : - D. 0.
LETTER REVISION DESCRIPTION g‘\,{'\:m g:I:KD. g\\rfvo ,S\P(?V DATE
DWN. CHK. APPV'D, APPV'D. PLOT SCALE
s, J-W |ev: CGW [ev: CGW |ev @USKJM 3900 DR. GREAVES RD
© & [DATE: DATE: DATE: DATE: : i I GRANDVIEW, MO 64030 NONE ECN: 4539
= 5| 10/10/14 10/10/14 | 10/10/14 Air & Sound Contro '
P L TITLE DWG. NO.
= OS¢y ©
S252283 ELF6375DXD TEST AND
w%éiggﬁﬁ
EE IR APPROVAL DRAWINGS 00-022375-00B
f2uuEids| SHEET 4 OF 20
SRR




NGINEER OF RECORD

CHELSEA GQ. WELCH

NGINEERING DISCIPLINE

CIVIL ENGINEERING

EGISTRATION NUMBER

TX# 117359

s‘\\“\

®
Xy
A
sy
-~

s

U/
CHELSEA G. WELCH 4

FOR OFFICE USE ONLY

FOR OFFICE USE ONLY

BACKING ROD & SEALANT

C7X9.8 SUPPORT
REF ITEM 6 SHEET 15

1/8" MAX SHIM

1/8" 2"-12" O.C!

?
/o
—

3/8-16 X 1" LG HX HEAD BOLT A307

ZNC PLATED W/ LOCKNUT & WASHER

(6" FROM ENDS, 18" MAX O.C.)

3" X 2" X 1/8" ALUM ANGLE —/
FULL HEIGHT OF SECTION <o
REF ITEM 8 ON SHEET 16

,__

j‘/ﬁ 3/8-16 X2 1/2 LG HX

HEAD BOLT A307 ZNC PLTD

Vv

W/ LOCKNUT & WASHER
(6" FROM TOP &
BOTTOM OF LOUVER,
18" MAX 0.C.)

]
L
JL 1/8" EXP. GAP

/~4 "\ VISIBLE MULLION DETAIL

T.S.

- /N
U END PLATE NOT SHOWN FOR CLARITY
REF 3A ON SHEET 4

TOLERANCES

NSIONS: + 1/16

008
IFIED OTHERWISE

[N v

DECIMAL DIMENSIONS:
3PLACE XXX +.010
2PLACE XX +.020.
FRACTION DIM|

ANGLE DIMENSIONS + 2°

USE WIQ-007
UNLESS SPEC

CHANGE ; : ;
eTTER REVISION DESCRIPTION T g;izK D. Q\TV D. Q\TV D. | DATE
DWN. CHK. APPVD. APPVD. PLOT SCALE
B J-W |sv CGW [  CGW |sv: E?@SMM 3900 DR. GREAVES RD
DATE: DATE: DATE: DATE: . GRANDVIEW, MO 64030 . 4539
| 10/10114 |~ 10110114 | 10/10/14 Air & Sound Control NONE |ecn:

SHEET 5 OF 20

TITLE

ELF6375DXD TEST AND
APPROVAL DRAWINGS

DWG. NO.

60-022375-00B




1/4" @ A307 BOLT OR
TEK SCREW

(2) #10 X 1" LG TEK
SCREWS

1" MIN. EDGE DIST.

112" X 112" X 1/4" X 2" LG T

N\

=

CORNERS, 15" MAX. O.C.
ITEM 7 ON SHEET 16

BACKER ROD & SEALANT
4

_/

LYR' REF:

1/4" MAX. GAP
/1A JAMB DET - METAL SUBSTRATE

\— METAL FRAME

SEE BELOW FOR MIN SPEC

| e——

- /NTS.
U 14 GA STEEL MIN. SUBSTRATE
1/8" THK ALUM MIN. SUBSTRATE

NGINEER OF RECORD

CHELSEA GQ. WELCH

NGINEERING DISCIPLINE

CIVIL ENGINEERING

EGISTRATION NUMBER

TX# 117359

FOR OFFICE USE ONLY

FOR OFFICE USE ONLY

|2
C
\L 11/2" X 1 1/2" X 1/4" X 2" LG

ALUM CLIP ANGLE. 2" FROM

ALUM CLIP ANGLE. 2" FROM
CORNERS, 15" MAX O.C.

2 1/2"|(MIN. EDGE DISTANCE)

|

T

S~ 1/4"¢ X 2 1/4" HILTI
KWIK CON II W/ WASHER
(1 3/4" MIN EMBED)

N (2)#10 X 1" LG TEK

/5

X

LVR REF. —/

SCREWS

BACKER ROD & SEALANT

CONCRETE REF

N

1/4" MAX. GAP —=—

/ 18"\ JAMB DET - CONCRETE

- /NTS.
U 3000 MIN COMPRESSIVE STRENGTH

NOTE EDGE DISTANCE REQUIREMENTS

CHANGE
LETTER

DWN.
BY:

CHK'D.
BY:

DATE

REVISION DESCRIPTION AP.PVD'

APPV'D.
BY: |

BY:

DWN.
BY:

CHK.

B.  CGW

APPV'D.

J-W
DATE:
10/10/14

+1/16

DATE:

10/10/14

ED OTHERWISE

ONS +2°

+.020.
ANGLE DIMENS]
USE WIQ-007 & 008
UNLESS SPECIF

DECIMAL DIMENSIONS:
3 PLACE XXX +.010
FRACTION DIMENSIONS:

2 PLACE .XX

TOLERANCES

SHEET 6 OF 20

B:  CGW Q‘F(.:PV'D' E?USK HM 3900 DR, GREAVES RD PLOTSCALE
DAT?O /110/14 RalE: Air & Sound Control CRANDVIEW: MO sdoz0 NONE BEN: 2
TITLE DWG. NO.
ELF6375DXD TEST AND
APPROVAL DRAWINGS 60-022375-00B




3"MIN =
m ﬁ 1/4" @ BOLT OR TEK LOUVER

-/ I A RS X 1k wa LG SCREW W/ WASHER y Lol
EXTRUDED ALUM CLIP ANGLE
| 3" FROM ENDS, 12" MAX O.C.
illit REF DET 6 ON SHEET 17 x
LVR REF 0 i —
] ? \ ﬂ
\ 1 °
]
S 14" @ X1 14" HILTI —— ]
KWIK CON Il (2) PER ®
ol CLIP (1" EMBED)
11/2" X'L' X 1/4" THK X 2" LG \
— R FORMED ALUM CLIP ANGLE
) S BAGKER RO 3" FROM ENDS, 12" MAX O.C. \ vy
R ROD TR = _on
1/4" MAX. GAP 4—-— % S L DIM = WALL DEPTH - 2 CMU REF (2) #10 X1" LG
REF DET 6A ON SHEET 17 S AR
1D i,
/1¢\ JAMB DET - CMU /10™\ JAMB DET - CMU
NSNS \_- / NTs.
MIN PRISM STR OF 1500 PSI AT INSTALLATION
TYPE I, GRADE N, LIGHT, MED, NORMAL WEIGHT ASTM C90
GROUT MUST COMPLY WITH FBC SECT 2103.12
N TYPE N, S, OR M MORTAR PER FBC SECT 2103.8
CHELSEA GQ. WELCH
CIVIL ENGINEERING
EGISTRATION NUMBER
TX# 117359
> 2
=
% @) CHANGE REVISION DESCRIPTION DWN. | CHKD. | APPVD. | APPVD. | DATE
o i LETTER BY: BY: BY: BY:
2 = v JW [ CGW [ CGW [ov RS L
8 (LI.')j 5 % “ororna | Toroma | qomona | Air & Sound Control SRANDYIERL MO B0 NONE BEN: e
= ™ o gy £ TITLE DWG. NO.
m m S2g22as ELF6375DXD TEST AND
SEEERER APPROVAL DRAWINGS - :
5 S é_‘o;% SHEET 7 OF 20 60-022375-00B
I v SRR




1/4" DIA SELF-DRILLING SCREWS
LOCATE 2" FROM ENDS 16" MAX O.C.

g (:'/
L\ I

\ | N

2" X 2" X 1/4" THK X LVR HEIGHT

1/8" | EXTRUDED ALUM RETAINING ANGLE

LVR
REF

<
—— WALL STRUCTURE
] 1 REF
g
SEALANT REF ———/// "““"\~\\\\\\\\\\\\\\\\\\___
2" X (D+2) X 1/4" THK X LVR HEIGHT

FORMED ALUMINUM SLEEVE ANGLE
3003-H14

/1€ JAMB DET - UNIVERSAL SLEEVE

U N.T.S.

NGINEER OF RECORD

CHELSEA GQ. WELCH

ENGINEERING DISCIPLINE |

CIVIL ENGINEERING

EGISTRATION NUMBER

TX# 117359

CHANGE

LETTER REVISION DESCRIPTION

DWN. CHK'D.
BY: BY:

APPV'D.
BY:

APPV'D.
BY:

DATE

DWN.

gy:  J-W
DATE:
10/10/14

CHK. APPVD. APPVD.
s: CGW |ev: CGW |ev:

DATE: DATE: DATE:
10/10/14 10/10/14

[RUSIKIN

Air & Sound Control

3900 DR. GREAVES RD
GRANDVIEW, MO 64030

PLOT SCALE

NONE

ECN:

4539

TITLE

GGGGG ELF6375DXD TEST AND
APPROVAL DRAWINGS

NSIONS: + 1/16
EQ OTHERWISE

20
ONS +2°
08

SHEET 8 OF 20

FOR OFFICE USE ONLY
FOR OFFICE USE ONLY

DECIMAL DIMENSIONS:
3 PLACE .XXX +.010

TOLERANCES

2 PLACE XX +.
FRACTION DIM
ANGLE DIMENS|
USE WIQ-007 &
UNLESS SPECIFI

DWG. NO.

60-022375-00B




C7X9.8 BLADE SUPPORT REF ITEM 6/15
7 C7X9.8 BLADE SUPPORT REF 6/15

w (2) 3/8" @ A307 BOLTS, LOCKNUTS, /
/ ) 3/8" @ A307 BOLTS,

WASHERS i
LOCKNUTS, WASHERS

/ — 1/4" MAX. SHIM =
I(/

L | } = r\ 7’] I 1
L LOUVER REF J SUPPORT END PLATE —__— | A

NN

REF DETAIL 5 AND TABLE 1
1" MIN. EDGE L ON SHEET 16 \* METAL FRAME REF
DISTANCE
/2a™\ SUPPORT ATTACHMENT - METAL SUBSTRATE 2"\ SUPPORT ATTACHMENT - METAL SUBSTRATE
\/ 1N4TG§\ STEEL MIN. SUBSTRATE THICKNESS U 1.

1/8" THICK ALUM MIN. SUBSTRATE THICKNESS
SILL SHOWN, HEAD SIM

NGINEER OF RECORD

CHELSEA GQ. WELCH

NGINEERING DISCIPLINE

CIVIL ENGINEERING

EGISTRATION NUMBER

TX# 117359

GHANGE REVISION DESCRIPTION DWN. | CHKD. | APPVD. | APPVD. | DATE
LETTER BY: BY: BY: BY:

DWN. CHK APPV'D. APPV'D.

o J-W CGW o CGW s E?@SKHM 3900 DR. GREAVES RD PLOTSCALE
D

DATE: DATE: DATE: GRANDVIEW, MO 64030 NON E

ECN: 4539

ATE: :
10/10/14 10/10/14 10/10/14 Air & Sound Control

TITLE DWG. NO.

S ELF6375DXD TEST AND
SHEET 9 OF 20 APPROVAL DRAWINGS 60-022375-00B

IED OTHERWISE

NSIONS: +
ONS +2°

ANGLE DIMENS|
USE WIQ-007 & 008
UNLESS SPECIFI

o=

FOR OFFICE USE ONLY
FOR OFFICE USE ONLY
16

TOLERANCES
DECIMAL DIMENSIONS:
3PLACE XXX +.010
2PLACE XX +.020.
FRACTION DIM




C7X9.8 BLADE SUPPORT REF ITEM 6/15

(2) 3/8" @ HILTI KWIK BOLT TZ
EXPANSION ANCHORS W/ 2 1/2"
MIN EMBED, 7 1/2" MIN EDGE DIST

r 1/4" MAX. SHIM

/28"\ SUPPORT ATTACHMENT - CONCRETE SLAB

W /
: aq‘ - A ' E \‘v\
e T L 4\/*— -
~——7 1/2" MIN ~—7 1/2" MIN —

r / D! ]
[ SUPPORTEND PLATE —— [ | | /

REF DETAIL 5 ON SHEET 16

C7 X 9.8 BLADE SUPPORT

(2) 3/8" @ HILTI KWIK BOLT TZ

EXPANSION ANCHORS W/ 2 1/2"

MIN EMBED, 7 1/2" MIN EDGE DIST

/

/

<

|

a4 4\4
< ‘ ;
: <

/

/2F\ SUPPORT ATTACHMENT - CONCRETE SLAB

- JNTS.
v 3000 PSI MIN CONCRETE
NOTE EDGE DIST REQUIREMENTS

NGINEER OF RECORD

CHELSEA GQ. WELCH

NGINEERING DISCIPLINE

CIVIL ENGINEERING

EGISTRATION NUMBER

TX# 117359

FOR OFFICE USE ONLY

FOR OFFICE USE ONLY

v N.T.S.

—— LOWER REF

aeree REVISION DESCRIPTION B | CHRo. | ARRVDL | APRVDV | (DATE
DWN. CHK. APPV'D. APPVD, LOT SCALE
ev.  JW |ex. CGW [sv: CGW |sv: B@SK&M 3900 DR. GREAVES RD et
© g DATE: DATE: DATE: DATE: o GRANDVIEW, MO 64030 - 4539
S 2| foMoma | 1011014 | 10/10/14 Air & Sound Control NONE | ecw:
g 2% g TITLE DWG. NO.
= S
8952538 ELF6375DXD TEST AND
pExsEast
gegniiey APPROVAL DRAWINGS -022375-00B
L253R524| SHEET 10 OF 20 60-0 0
PESTEZuS




/— C7X9.8 BLADE SUPPORT REF ITEM 6/15

/)

.

™\

5" MIN

e

M

6" MIN
12" MAX

SUPPORT END PLATE
REF DET 5 ON SHEET 16

L 1/4" MAX. SHIM

(2) 3/8" @ A307 BOLTS, —/% ?

LOCKNUTS, WASHERS

] \
(3) 3/8" @ HILTI KWIK BOLT Il

EXPANSION ANCHORS W/

2 1/2" MIN EMBED

U N.T.S.

ENGINEER OF RECORD

CHELSEA GQ. WELCH

NGINEERING DISCIPLTNE

CIVIL ENGINEERING

EGISTRATION NUMBER

TX# 117359

_
2 = \

F
7 A
g CHELSEA G. WELCH 2

4

% 17359 Y
@ AE ‘Q
‘ :IA - N e

FOR OFFICE USE ONLY

MIN PRISM STR OF 1500 PSI AT INSTALLATION
TYPE |, N, LIGHT, MED, NORMAL WEIGHT ASTM C90
GROUT MUST COMPLY WITH FBC SECT 2103.12
TYPEN, S, OR M MORTAR PER FBC SECT 2103.8

FOR OFFICE USE ONLY

—~.F

/7 C7X9.8 BLADE SUPPORT
_WQDB

‘a -
[ & w o |
JL_;/.E, - ! I
/ ] \ ]

I \ ]

13/8" MIN —

L 6" X4" X 1/2" X 18" LG
A36 HDG STL ANGLE
REF DET 6B ON SHEET 18

/2¢\ SUPPORT ATTACHMENT 6",8",10",12" - CMU BLOCK /26" SUPPORT ATTACHMENT - CMU BLOCK

\-JTJ.T.S.

TOLERANCES
2 PLACE XX+
FRACTION DIM
ANGLE DIMEN
USE WIQ-007 & 008

3 PLACE XXX

SHEET 11 OF 20

i REVISION DESCRIPTION PN SHRm. [ERVIE: | APEVO: | miATE
By J-W ov: CGW gﬁiwD.CGW o EMSKJM 39000R. GREAVESRD | | o
g 2"%onoma " Toroma " orona |7 Air 8 Sound Control cravpviEm.moeiese 1 NONE | Ecn: 4539
o B F TITLE DWG. NO.
§g§§§ é ELF6375DXD TEST AND
APPROVAL DRAWINGS 60-022375-00B
= %




LVR
REF

SEALANT REF

—~J

FOR D<=10

2"X12"X1/4"TH

K

X LVR WIDTH

FORMED ALU

M

SLEEVE ANGLE
3003-H14

FOR D>10

2"X(D+2)X1/4" TH

K

XLVR WIDTH
FORMED ALUM
SLEEVE ANGLE

3003-H14

N

L

|

S/
N

/ SUPPORT REF ITEM 6/15

—— 1/2" DIA A307 ZNC PLATED BOLT, LOCKNUT, WASHER

2"X2"X1/4"X5" LONG EXTRUDED ALUM CLIP ANGLE
6063-T6 REF ITEM 9 ON SHEET 18

—— 1/4" DIA SELF DRILLING SCREWS

S

2" FROM ENDS, 8" MAX O.C.

2"X2"X1/4"XLVR
WIDTH EXTRUDED
ALUM RETAINING
ANGLE

1/8" | 1"-12" O.C.

/2°°\ SUPPORT ATTACHMENT - UNIVERSAL SLEEVE

Pl ol

N

NGINEER OF RECORD

CHELSEA GQ. WELCH

NGINEERING DISCIPLINE

CIVIL ENGINEERING

EGISTRATION NUMBER

TX# 117359

FOR OFFICE USE ONLY

FOR OFFICE USE ONLY

CHANGE

LETTER REVISION DESCRIPTION

DWN. CHK'D. APPV'D. | APPVD.
BY: BY: BY: BY:

DATE

NSIONS: + 1/16

+010
20
ONS +2°

2 PLACE XX 4.

=1

TOLERANCES
DECIMAL DIMENSIONS:
3 PLACE XXX
FRACTION DIM|

ANGLE DIMENS|

USE WIQ-007 & 008

ED OTHERWISE

UNLESS SPECIF

DWN.

B: J-W

CHK

CGW

APPV'D.

&, CGW

APPV D.

DATE:
10/10/14

DATE:

10/10/14

DATE:
10/10/14

DATE:

[RUSIKIN

Air & Sound Control

3900 DR. GREAVES RD
GRANDVIEW, MO 64030

PLOT SCALE

NONE 4539

ECN:

SHEET 12 OF 20

TITLE

ELF6375DXD TEST AND
APPROVAL DRAWINGS

DWG. NO.

60-022375-00B




1/2"¢ A307 ZNC PLATED BOLT,

LOCKNUT & WASHER
\ 1V
f

2"X2"X1/4"X5"LONG EXTRUDED

ALUM CLIP ANGLE 6063-T6 ‘\ —— 1/4" DIA SELF-DRILLING SCREW
REF. ITEM 9 ON SHEET 18 | 2" FROM ENDS, 8" MAX O.C.
J i 5
" o L
ALUM SLEEVE ANGLE —/ A\
3003-H14
REF 2H/12 \
= 2"X2"X1/4"XLVR WIDTH
EXTRUDED ALUM
/ RETAINING ANGLE
BTWN ANGLE 3003-H14
& SLEEVE 1/4" 5
/20 SUPPORT ATTACHMENT - CMU BLOCK
v N.T.S.
NGINEER OF RECCRD
CHELSEA GQ. WELCH
NGINEERING DISCIPLINE
CIVIL ENGINEERING
EGISTRATION NUMBER
TX# 117359
S S AN >- >-
‘._.‘Z‘-‘.;‘E_OP\T? \‘\‘ —Z-l g CHANGE ' '
,’; ? a ﬁ ."'".f "‘ 8 | LETTER REVISION DESCRIPTION gx\:fN- g\I;I:KD. Q?VD' S\TVD, DATE
* o.‘ [/ L . ) 'D.
g CHELSEAG. Werch? |2 = o, JW |ov COW [ov. CGW |ov BUSKIN ~ wmoncremesro | "o
A : . 4 | © & |DATE: DATE: DATE: DATE: . GRANDVIEW, MO 64030 NONE ECN: 4539
% o iy L = 5| 101014 | 10110114 | 10/10/14 Air & Sound Control -
W3y, 17359 5 7 3} O YL E
0.'%4\, ¢ % T4 = L 4 %:c;-l £ TITLE DWG. NO.
W LA Y ) LOL LOL §§gg§§§ ELF6375DXD TEST AND
' fEEzsesy APPROVAL DRAWINGS 60-022375-00B
(' 3(&‘1.1.“119‘333
.[,q’wu § o Pt SHEET 13 OF 20




6.000

3.686

325

N.T.S.

NGINEER OF RECORD

CHELSEA GQ. WELCH

NGINEERING DISCIPLINE

CIVIL ENGINEERING

EGISTRATION NUMBER

TX# 117359

[ - 2x 500
1.0100 7 1.otoo
_1. # {
1.060 30° > .9l|34
4.087 %S——
f _ 581 -
% A i °
| .5;)0 \ |
823 _‘ L 500 .sooJ -
750 —|
6.000 (+.000/ -040) — ]
—1 1.290 =
=— 1.601 —=
ITEM 2 - SILL FRAME ELF6375DXD
N.T.S.
ITEM 1 - HEAD FRAME ELF6375DXD 125 THK 606375 ALUM
T T BT T 51 1 RUSKIN NO. 70-021130-00B
RUSKIN NO. 70-020578-00B
6.000
— 1,615 —
. 55 -
85 r = ‘ A‘ ~
1.000 1 725 (+.014) ‘:) 1.000
{_{,IEE 358 i }
B ‘1.053 P !
115 — 4385
080 —— 5.340
5.420
ITEM 3 - JAMB FRAME ELF6375DXD
N.T.S.
.080 THK 6063-T5 ALUM
RUSKIN NO. 70-020382-00B
s
% @) Eg%"g;'z REVISION DESCRIPTION Lo L st B
L LLl . P : : : :
g CDD v J-W . CGW QTVD.CGW B ﬁ@@%ﬁm 39000R, GREAVESRD | ot
L (L_L)I § § DATf]E:OHOHAr DAT!EI:OI10”4 DAT%I:OI‘IO/M DATE: Kir & Sound Eontrol GRANDVIEW, MO 64030 NONE ECN: 4539
8 i 4 %T' ‘§ TITLE DWG. NO.
. = s8g28an ELF6375DXD TEST AND
fEzssosy APPROV. WIN - -
= S {18E 024 SHEET 14 OF 20 SEESCEINES 60-022375-008
il L SRR




f |

NGINEER OF RECORD

CHELSEA GQ. WELCH

NGINEERING DISCIPLINE

CIVIL ENGINEERING

EGISTRATION NUMBER

TX# 117359

522 658
5.041
e 4.918(+.050/-.020) — =}
=1
4.318
4,852
5.964
4.030 T #3215
. (+.020 / -.050)
"y 4,833 B ' 5
7\/4 o 5.130 \,1.505 - |
ITEM 4 BLADE ELF6375DXD ITEM 5 - BLADE BRACE ELF6375DXD
N.T.S. N.T.S.
.080 THK 6063-T5 ALUM .080 THK 6063-T5 ALUM
RUSKIN NO. 70-020382-00B RUSKIN NO. 70-020568-00B
|—— 2.09 —-' \
{ .366
+
\AQ.QIQ
7 — = .200
g
ITEM 6 - REAR SUPPORT CHANNEL C7x9.8 ELF6375DXD
N.T.S.
HDG A36 STEEL
USED FOR LOUVER HEIGHTS OVER 111" TO 119.75"
REF SHEET 19 & 20 FOR ALTERNATE SUPPORTS
> >
EI % CHANGE
8 5 e REVISION DESCRIPTION g\‘;‘:’N- g:':K'D- S\P:V“D gsf’VD DATE
3 c:)o } o JW [ CGW sV CGW [av BUSIKIN e s, | T e
8 IEI.DJ 5 % "orora | tonona | domona | Air & Sound Control e NONE | ecn: -
— E % %E‘:‘ E TITLE DWG. NO.
g = S2g28ss ELF6375DXD TEST AND
fEzioesy APPR - -
X S %§g§§§ SHEET 15 OF 20 kg L 60-022375-00B
I L PRSIEZ 43S




~— 2.000 —=

=

2.437 x .75 SLOT —/

3

875

C

ITEM 7 - CLIP ANGLE

-
—

1.500

_L
4‘ I* 250

4 ’——-— 625
0

.500

Loy
#9

©.283 —/

2.000

ELF6375DXD

N.T.S.

MAT'L: ALUM 5052-H32 OR 6063-T6
RUSKIN #: 85-021637-00B

NGINEER OF RECORD

CHELSEA GQ. WELCH

NGINEERING DISCIPLINE

CIVIL ENGINEERING

EGISTRATION NUMBER

TX# 117359

SRy,

TABLE 1 - END PLATE DIMENSIONS

10.000
5.000 3.955
? WALL DEPTH L X
CONCRETE
iy 75 2.750
6" CMU 7.5 2.385
| — 3.563
8" CMU
! O & | 75 | 4385
10" CMU 7.5 6.385
IX. "
& W o TYP. 12" CMU 9.5 3,385
1.000 '250_’
m C7X9.8 END PLATE ELF6375DXD

- /' NTS.
U MAT'L: 1/4" THK A36 HDG STL
SEE DET 2A, 2B, 2C FOR ALTERNATE SUPPORTS

FOR OFFICE USE ONLY
FOR OFFICE USE ONLY

I=— 6.000 FROM ENDS 18.000 O.C.
—-i |—— 125
3.000 H O
1.906 %
e 2000 ‘_| \— 2.438 X .875 SLOT
ITEM 8 - REAR SUPPORT ATTACHMENT ANGLE ELF6375DXD
N.T.S.
6063-T5 AL EXTRUDED ALUM
ot g REVISION DESCRIPTION M CBER. | QTR | APRL | mame
[ AL CoW oo | RUSKIN e | 4539
& 2 onona | toroma | orona | Air & Sound Control ™ ] NONE - |eon
g 2% § TITLE DWG. NO.
22g32sp ELF6375DXD TEST AND
%gfa T PE— APPROVAL DRAWINGS 60-022375-00B
GE2260=0
SEzaEZ4s




4.000

* 4,000 I' i —i
| il _r [ Pl
1.250
- | ]
3.000 1 3.000
2.250 7 o
—={ 1.000
.300 i? 1 [=— 2.000 —
-~ |- .500 |—~ "L" = WALL DEPTH -2" —-I
H T [ i ]
875
3.000 (] 4.000 1.500 b O——1L [ _1.5[0
@.250 —/ -
) "L" = WALL DEPTH - 2" ——=
.500 ?U s — 1000 1 —= =—.250
f ©.283 —/ _*_
1.o+oo ] T
&b 2.000
/6 \ ATTACHMENT ANGLE (CMU) ELF6375DXD i )T
\:/ N.T.S. o250/
MAT'L: ALUM 6063-T6
/A ATTACHMENT ANGLE (CMU) ELF6375DXD
\ - ANTS
MAT'L: ALUM 3003-H14
NGINEER OF RECCRD
CHELSEA GQ. WELCH
NGINEERING DISCIPLINE
CIVIL ENGINEERING
EGISTRATION NUMBER
TX# 117359
s 2 -
a % O Eg%"'E%E REVISION DESCRIPTION g:‘;‘fN- g\';l_K'D- Q$FV‘D< g:';_F’V'D- DATE
L L1l | . : : :
if ) = o JW_[s¢ CGW |sv  CGW |sv RUSKIN  sooon cremvesro | 77
" | ld)'] gl % DAT$0/10/14 D.‘-‘\TI%I:O‘!‘1 0Ma DAT'?]:OH 0/14 DATE: Air & Sound Control GRANDVIEW, MO 64030 NONE ECN: 4539
I‘. 9 i " é‘:‘ % TITLE DWG. NO.
g i S2g22s0 ELF6375DXD TEST AND
SRR APPROVAL DRAWINGS - -
S & fe88822¢| SHEET 17 OF 20 60-022375-00B
L L PEZIEZ43




18.000

A4375" X 2"

(—;B/- SLOT
i F—"

/68 ATTACHMENT ANGLE

5.000

8.000

(CMU)

U N.T.S.

MAT'L: A36 HDG STL

NGINEER OF RECORD

CHELSEA GQ. WELCH

NGINEERING DISCIPLINE

CIVIL ENGINEERING

EGISTRATION NUMBER

TX# 117359

FOR OFFICE USE ONLY

FOR OFFICE USE ONLY

| 6000 | 5.000 1 2.000
L i
4
2.000 2.000
—| | 500
6.000 -
- t»woo
] T
O
8.000 1
5.000
18,000
2.563 oy
27/16 (3)
750 —~
—~] 750 |-
ELF6375DXD
ITEM 9 - SUPPORT ATTACHMENT ANGLE(SLEEVE) ELF6375DXD
N.T.S.
6063-T6 AL EXTRUDED ALUM
E;ﬁ.rNEf{E REVISION DESCRIPTION g}l”,\:’N- g:(:wo. gf;f""[’- gsf"‘"D' DATE
e JW e COW [eCGW [av BUSKIN  ssooor cremvesro | "7 SE
& =Momoma [ Honona | orona | Air & Sound Control srawovEmmosiem | NONE e 4539
% gz‘ g TITLE DWG. NO.
§g§'2§§§ ELF6375DXD TEST AND
fEessciy APPROVAL DRAWINGS - -
%%%%é%%@ SHEET 18 OF 20 60 022375 OOB




10.000
5.000 4.040

~
Lo o

| — @.563

|
I-——— 1.000 230 .

? “— | s |

/5A\ C6X8.2 END PLATE  ELF6375DXD

- JNTS.
U MAT'L: 1/4" THK A36 HDG STL
LOUVER HEIGHTS OVER 99" TO 111"

ENGINEEROFRECORD |

CHELSEA GQ. WELCH

NGINEERING DISCIPLINE

CIVIL ENGINEERING

EGISTRATION NUMBER

10.000
5.000 e 4.094 ——

mia) IS
- 250

| — .563

1 e

1/4" ‘

/58"\ C5X6.7 END PLATE  ELF6375DXD

- /NTS.
\/ MAT'L: 1/4" THK A36 HDG STL
LOUVER HEIGHTS OVER 86" TO 99"

TX# 117359
> &
STE OF I\ = Z
’.:';'\P:S..E---..Z:ﬁ ) e O FEoE REVISION DESCRIPTION DWN. | CHKD. | APPVD. | APPVD. | DATE
Z 2 o G"I‘ = ' LETTER BY: BY: BY: BY:
z 'S * ) ; 7
g2 s ) w DWN. CHK. APPVD. APPVD.
/ CH v/ % 2 s J-W [ev. CGW [sv: CGW |[ex: EUSKJM 3900 DR. GREAVES RD ProTSeE
¢ CHELSEA G. WELCH 4 L o 4 [DATE: DATE: DATE: DATE. ) GRANDVIEW, MO 64030 NONE _ 4539
- -’ LL) O = = 1oMoM4 | 1011014 | 10110014 Air & Sound Control ECN
f"?,g_‘ ) 17359 ...-;3- z E_I_) T 1 § TITLE DWG. NO.
'u..?;:? NSl & o Segelss ELF6375DXD TEST AND
¥ pR%z2273
2 e @ deazciss APPROVAL DRAWINGS 60-022375-00B
,{-ﬂ,{wlé e o S3uEi2d| SHEET 19 OF 20
L L REssEZSS




10.000

5.000

4.208

===

By

10.000

5.000

4.208

1/4" I

\ @.563

==

B

1/4" ~

\ 2.563

é} A.}
L—-— 1.000 20 ‘_" 1,000 e
/750 C4X5.4 END PLATEELFes7sDXD /50" C3X4.1 END PLATE ELF63750%D

U N.T.S. = : M.T.5. 5.000 4,000
MAT'L: 1/4" THK A36 HDG STL

MAT'L: 1/4" THK A36 HDG STL
LOUVER HEIGHTS OVER 74" TO 86" LOUVER HEIGHTS OVER 27" TO 74"

| — @.563

v O ol

w ‘j[/ "

I-ﬁ——moa 5001
/56 2x2x1/4 ANGLE END PLATE  ELF6375DXD

NGINEER OF RECORD U MTSL 1/4" THK A36 HDG STL
CHELSEA GQ. WELCH LOUVER HEIGHTS TO 27"
NGINEERING DISCIPLINE
CIVIL ENGINEERING
EGISTRATION NUMBER
TX# 117359
B >
= =
% O s REVISION DESCRIPTION g el el Deacall B
L LLI | | : : ; _
2 5 S W[ caw [ cow [a RUSKIN ~ smoncrenesro | "
8 E)J & % “orona | T0Mon4 Ponoma | Air & Sound Control SRANDIE o etose NONE ERN: s
O T 4 gau % TITLE DWG. NO.
% L S2gzist ELF6375DXD TEST AND
SEEELEE APPROVAL DRAWINGS - -
S S (748R520] SHEET 20 OF 20 60-022375-008
i ol Slezzg 283




